Question #0
Theta Ciphering

National Convention 2014
Find the value of n so that the two given 
lines will be parallel.
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Question #3
Theta Ciphering

National Convention 2014
 Using the given data about a geometric series 
to find the value of the fourth term:
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National Convention 2014
Keshav’s limo company operates a shuttle 
service between the airport and downtown Gaineville. It charges a fare of $12 per 
passenger and carries 400 passengers per day. 
His company estimates that business will 
decrease by 10 passengers per day for each increase of $1 in the fare. In terms of dollars, 
how much should Keshav charge per 
passenger to maximize revenue?
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The equation of the hyperbola with foci at 
(0,5) and (0,-5) has asymptotes whose 
equations are
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